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a5 |1 RE EK
50m I%O0B —h%
30.23
BEAARL— | [ BA BX
100m |L3O0B —f
1:05.14
7 KEEKKIZERB| 2  KEEKKBERA| 3  KEKkHEC
. XTI BA BX BA ER
JL— Hi SN INEEBER
200m A AF B R EEUMS
% & BB MK =15 B
1:45.92 1:50.17 2:01.65
(F—ik3&) 25.02 26.59 30.99
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2016%E6 A5H
B 7 B Bt | 2 BE MIE | 3 BE KT |4 FE KXKE |5 BE BS |6 BN KB
som |BBS =3 |ERERE  =3|EREERs  =3|ABs =1 |EEE =[BRS =3
26.02 27.33 27.79 28.10 28.90 35.20
S 7 ERK HE| 2 %K KM | g BW X |4 FHE MR |5 AW CF |6 HE | 7 ME FEAN | ¢ MR HE
100m |BIES =2 |ERERS = |ERERs  S2|EREERs  S2Ans =1|EeS =1 |EREERs =21 |ERERE 52
57.06 58.03 1:00.81 1:01.60 1:03.04 1:04.39 1:06.49 1:11.52
o 78K KM |2 Bl EKX| 3 HE MR | ¢4 A |5 T RN | 6 &%k BE | 7 BHIE AR
200m |ERERE =1 |ERERS  =2|EEESRS  S2A8s =1 |EREESs  51|B%S =L =3
2:10.16 2:17.00 2:19.07 2:20.27 2:24.93 2:33.01 2:38.87
e 7 BE B2 2 BF 183 | 3 BE gEzN
50m |HEEE 2| BISE &1 RsE 2
30.35 35.68 35.72
s 1 kB =K | 2 BE B | 2 FE EZN| ¢4 BRF B
100m |EES m3 RS =1|ERS =[BRS =1
1:09.63 1:12.99 1:17.51 1:19.73
T 7 B ERK |2 EEEK| 3 BB X | 4 M BE
som |EEEHRES  S2|HHs =3 |ERE =3 |ERERE =2
34.28 34.41 38.44 41.85
ik 7 WK RE | 20 BRIE BHME | 3 0RO T
i i 119%;1 i 121%’;3 @%%—1 31%';3
Naosq4 | 7 I B2 2 FE KRR |3 RBE X |4 BE WE |5 BE =N | 6 EE MR | 7 XE BE | 8 kK BZE
50m  |ERRE 22| AES a1 ERE =3|ERERS  =3|ERERE  S2|RES =1 |EREERES =2|R8S =1
27.88 29.25 30.48 30.69 30.94 31.12 32.25 33.51
a5 | 1 ERKR BT 2GR SR (5 BE RS |4 ME KE |5 iHE | 6 XE BB
100m |BIES =2|Ees =1 |ERERs  =2|ERERS  S3|BRS =1 |ERERE 52
59.77 1:08.86 1:10.81 1:11.00 1:12.59 1:13.01
BAARL— | 7 B =K | 2 BE B2 3 RE X | 4 BE BS
100m |EHEE =3RS =2 | s =3RS =1
1:05.13 1:06.95 1:11.25 1:14.61
BoARL— | 1 WE EA
200m Bes a1
2:49.13
7 LE2 2 BEEB | 3 EREHRSA ¢4 ERERSBl 5 0 BEBSEC | 6 EBEBSEA
\ EE BN tERK #F B #iE &l FEX BEIE BHM £k 1B
J— RR A Hl Bth B ARt KE BE £ B "FE &3
200m aiE #5 B KT #]AR K#n e |A #E —A Bk sz
£ =K e =4 HE K& B =N WA EH A KiE
1:46.92 1:47.61 1:48.66 1:56.09 1:56.43 2:07.41
(B—kE) 25.66 26.52 26.57 27.38 30.19 30.08
7 BIREB | 2 s 3 ERMEHREAl ¢ BEBSC | 5 EEERSB| 60 0 BEBESA
S Rk K HE BS ;AR K# BAF 83 i A BEIE B
ARL=Ub—  mim Bt 1k =X 21l #A WA 4 miE B B e
200m ERKR HF RE A HBE K= = —i BE =N £ Mz
& Bk EE w2 BE #E e =4 & R B KiE
2:01.99 2:02.94 2:03.50 2:14.31 2:17.71 2:29.67
(E—kE) 33.77 34.55 3297 36.70 36.28 41.28
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50m |BIES =1
29.86
B 7 iERBE WE | 2 AB ER |3 BiE XEB |4 LK &
100m |EESRE =3(AES Bl |EEs =3|Ess =2
1:02.23 1:06.38 1:07.25 1:19.92
B 7 BE XE
200m e =3
2:26.55
e 7 EE BR |2 ERKXK ®
50m EREHRE  =2|E5E =2
36.42 42.94
e 7 ERB BR |2 KB OB
ioom |EEERE  =2(R%S =3
1:17.43 1:19.60
T 7 EKR FTE |2 €8 XB |3 ZH kX%
50m EREHRS =2|EHks =1 |ERERE =2
37.86 39.20 47.80
i 7 ER FTE |2 €8 XB |3 HE X | ¢4 ZH kX
100m |EEERS  =2/8ES =1 |ERERs  S52|ERERE 52
1:22.65 1:25.81 1:34.79 1:44.74
Naos4q | 1 EER AE | 2 kR BEE 3 BR BE
50m EERES =3RS =1 |EFESRE 53
30.36 32.31 38.15
NaI54 | ! tkik A1 | 2 &k BEER
ioom |EEERS =3|EES =1
1:06.46 1:15.59
BEAARL— | ] =R TE |2 ®BE XB |3 =H N |4 % BEER| 5 28 X5 | 6 #E X | 7 I BB | ¢ IO #HhiE
100m |EEEHRS S2\8HS =3|Ees =2 |EEe =1 |EEE =1 |ERERS  52|R5E =1 |ERERS 51
1:15.08 1:18.00 1:20.19 1:20.21 1:23.49 1:23.58 1:24.45 1:26.80
BEAARL— | 7 Ik B | 2 SH EW | 3 B BHE | ¢4 /10 i
200m |BUISE =L =2 |ERtERe =3 ERERE 51
3:03.66 3:05.84 3:06.38 3:10.71
7 EREHS | 2 BES
\ =R FE AR X
JL— hkiE AT I mEt
200m A & B K
EE EBR =AM
2:01.20 2:07.85
(B—ikE) 31.07 29.49
1 EREERS | 2 Bs=
__— EE BR XE &
APL—Ub—| =g FE@ I mB
200m kg wE kAR
A & =H M
2:16.91 2:25.42
(E—kH) 36.47 35.79
BHETF ki AE  AEERERFRSR 3F
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20166858
i 7OWME BAK |2 BA RT |5 w2 |4 2L BB |5 FE OKE | 6 BEK BR| 7 EaH EZ| s &L
s0m | KEE—H  cha|ASEERT  ch3|KEE— ohi|KEEES 2| KEEES 3| KEEET o |ERERT 2|t $3
27.22 27.96 28.63 28.75 28.86 29.54 29.61 29.87
—_— 7OEW R | 2 BN BT | s #BFE B |4 WA KE |5 BB BN |6 EE K |7 w2 | s EAHED
100m  |EeAIE th3| KEEES 3| AEEET 3 |ERERT s AfE—h o3 |ERERT s AtE—f (kA H2
REH 55.25 1:00.57 1:00.64 1:01.41 1:01.77 1:02.02 1:02.24 1:02.28
i 7OEM K# | 2 B RE | s 1B MK | 4 BR ME |5 BEK BER|6 kB EE |7 Hbh B | ¢ Eam BEX
200m  |EEAE 3| KAEEF o3| AfE— 3| EEERT 2| KRS (kRS 3|t 3 |ERESS 2
2:00.33 2:08.96 2:09.85 2:10.32 2:16.74 2:20.13 2:28.04 2:30.59
. 7B HEK | 2 Nkt |30 w0 E | 4 BB BE | 5 KR MW |6 MBS | 7 I B |8 =@ RE
som | AEE—F 3|kt h3|AfE— o |[ERERT  th2|kAh 1 [tERh | AKfE— b3 |ERERT i
30.94 31.05 33.77 37.97 39.89 40.77 42.06 42.20
s 7oK M |2 B BE |5 ERIE |4 EERE |5 BB BE |6 BB K} |7 B BH| s B8 B
l00m | 3| KEEEF o2 |ERMERT  h3|kAh b2 |EESD  ch2| KBRS | K- 3| KEEET i
1:05.85 1:11.62 1:13.56 1:19.63 1:20.73 1:31.23 1:31.25 1:35.83
1 BN K#t | 2 2 ¥k 3 A R 5 WiE W |6 REHRE|7 2R % |8 RE &
bR th3| L& th3| KEE— ==p) A th2|tE R th2 | KEEER th2| KEE—rh 12
TikE REH 31.27 34.90 36.11 39.92 40.24 41.12 42.57
50m 3 B BE
REES
36.11
T 7 WH X&F |2 BWUiE |3 HKBFE |4 HiB R 5 WE W |6 RBREBK |7 REHE | 6 I X&E
100m |EEE#RT it 3| AEEERP  ohi|KEE— 2|l th2|tEA B |[tEA 2| KfE— 3
1:13.70 1:16.77 1:18.44 1:18.57 1:25.19 1:26.65 1:27.30 1:27.58
Saosq | 7 BR MR | 2 BB X | 5 HBF EC | ¢4 0B BK |5 RAHEDC| 6 BA DA |7 FE 8BS | s OB R
som  |EFSIERSP  ch2|AfE—th 3| KAEEAF 3| AfE—t ch3|bAs h2|KfE—F  wi[dEBH SR EACES $3
27.80 30.36 30.41 31.07 31.35 32.58 35.00 35.72
aosq | 1 BR MR | 2 BF B |5 RAHMED| ¢ BA DA |5 S EE |6 R BI | 7 ARA BB
loom |EEHEHE b2 KEEEG  th3|kAs 2| KfE— o |ERERD b |ERESE o |[ERERD &
1:01.75 1:07.31 1:09.70 1:11.46 1:25.42 1:31.68 1:37.49
BAARL— | 7 MR HES | 2 RILEE |5 FE KM |4 B R |5 BEK (6 RE & |7 RE B | s WH BT
{oom |EeAE th3|tL tho|KEEERS  ch3|tkl th3|FHE T 2| KfEEF 2|kl 1|t $3
1:08.22 1:09.88 1:13.61 1:16.48 1:21.47 1:22.01 1:22.80 1:24.27
BAARL— | 7 WE K& |2 Rl B |5 EBE |4 KK BT |5 KEEE |6 HR R |7 FE K |6 R EE
200m |EREIESRS  h3|tbis 2| ERERE b3 KRS hi|lAh th3| A 3| KEEEF  h3|tbA H2
2:24.72 2:30.76 2:33.27 2:35.47 2:36.94 2:40.68 2:43.12 2:44.50
7 EERHBA | 2 KEERPA | 3 KE—FA | 4 ERFHRPA 5 HAGB 6 KEE—HB | 7 XEE$B |8 LtRFC
. E PN B BT el & HiR i KB HE BE EE BEK AR ;e
JL— INE #3t #BE OB Wi BA Rog 2% HE BA B 3 A BE WRiE A
200m EASED Bl B BEJI TR NN ik AE LA EE 2@ % N B
Bl B HE At B X EE 1K He 2 BA DA Ha B BE i
1:48.95 1:51.31 1:51.54 1:52.00 2:00.78 2:05.40 2:07.20 2:11.54
— k&) 25.68 27.43 28.11 27.09 29.61 30.56 28.65 33.22
1 LRBRA | 2 ERRIERPA| 3 KEEEFA | 4 KEE—hA | 5 HRHB | 6 KE—FB | 7 KEHEFB | ¢  LLAHC
- INFE #h3H BB 1K 21l B BE A ki A )l & =7 PN WE BF
ARL—=Ub—| = K WA A% Bk BT hiE R WiE 1 HE & 2H % BE i
200m EAEREID HR #i R OE( A DR Hh ® Bl Ok BiEK AR N BEE
Bl B Ent 2 B BT WiE BA KE HE BE EE NG A BE @A
2:00.69 2:02.95 2:05.57 2:08.16 2:19.76 2:20.33 2:23.94 2:27.71
— k&) 30.40 32.07 32.28 31.18 36.18 35.40 35.29 40.12
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2016%E6 A5H
. TNER BE| 2 BRNE2 |3 BEWN OB |4 BEREN |5 —BE BN |6 ME W | 7 BEA BF | s Bl HiE
50m | KREEEG h3|E&H t2| kRt t1 | KEE—ep th3| KEE—ep 3|ttt 3|tk o2 | EEESRS 3
29.03 30.22 30.59 30.99 31.04 31.06 31.15 32.68
. 7 OINEIR BE 2 EBR N |3 i BE |4 BN OB |5 BEK E| 6 B EFEN |7 WE B | 8 Wk RE
100m AEERS 13| KEER A th2 | ERERRE  d2|tkR th1 | KEERSF th2 | KEE—p 3| bR th3| KEE—h ==]
1:02.58 1:04.95 1:06.03 1:06.83 1:07.02 1:07.10 1:08.21 1:10.54
B 7INER BE 2 BEFEK EML| 3 wNl BE | ¢4 WE OB |5 2 HEE |6 O FTE | 7 MREFE F | 8 ¥EH X
200m | KEEEF th3| KEEHRF tho | EERF 2| R th3|ERERF 3R o |ESERF 3| R 1
2:18.48 2:22.95 2:25.51 2:32.69 2:41.34 2:52.96 2:54.81 3:02.52
o ;OB RB |2 BEREDR |3 R O£ | ¢4 2L EBE |5 %H BFE |6 kAR B | 7 WA BFE| s FE ORE
50m REERH 2| KEE—rh th3| e i1 |dLks e i1 |LEAs i1 |tERsh i1 |dLk5 e 1| KEE— &3
33.30 34.66 38.95 40.33 40.34 40.88 42.10 48.44
e 7ORME R | 2 BREN |3 ROREE| ¢ BL EF |5 RE £ |6 fE UMY 7 B EE | 8 QD EE
100m | KEEE th2| KEE—h th3|ERERT | KE—F B2 (LA o1 | KEE—ep th2|dtEB o1 tkRt 1
1:09.31 1:15.19 1:19.91 1:22.41 1:24.07 1:25.83 1:27.65 1:30.24
ik 7 X BN |2 BEBK |2 WA KA |4 EBER BE| 5 WK EE | 6 KA HGH| 7 AR EE | ¢ AW BN
50m ERFEHRFT o |ERE®RR 3|t 1| KEE— 3| KEE— 2 |dLk5 e 3 |JLk5 o |[EEERS
K& 36.38 39.29 39.55 43.69 4418 4437 50.86 56.76
i 7t BDR |2 BRBAXK | WO KA |4 —E BN 5 BR OBRE | 6 BHE HEH| 7 WA EE | 8 HE HEL
100m |EEREHRT o |EEERS  P3|kAG ti | KEE—ep th3| KEE—rf th3|dLEE th3| KEE—rf th2 | KEE—rf g2
1:21.16 1:26.39 1:27.09 1:29.02 1:33.49 1:34.48 1:35.53 1:45.65
NaDS4 |1 ER K2 mE OBF |3 M Ll |4 WK RX |5 ¥R RE |6 BE BR| 7 EKN D) 8 ERX R
50m | AREERA th2| A th2 | KEER A th3| KEE—H B | LR th2|dk 5 th3| KEER A th3| LR B
31.69 31.92 34.80 37.20 37.70 43.43 43.66 43.76
Khosq | 1 ER R |2 I BR |3 W £ |4 EeK B |5 EE B
100m | KEEEF 2 | B ERF  h2 | KEERH 3[Rt &1|dLB5 &3
1:07.84 1:16.11 1:16.56 1:33.91 1:49.59
EAARL— | 7 B B | 2 RAMRE | 5 BB £ | 4 K ML | 5 Ak BN 6 ME FE
100m | KREEERS 2 |EREHRFT i |[leRs i1 |dLks e rh2 | KEERH 3| KEE—H &3
1:15.50 1:16.41 1:24.53 1:32.68 1:33.35 1:33.57
BAARL— | ] BN K| 2 BEK XL 3 S FEN |4 BN ES |5 BB BF |6 REANEER| 7 BR WK | ¢ EL EF
200m |EEAH | KEEEF tho | EERT i |ERS B2 |t o2 | EEESRS 1 |EREERS D3| KE—F g2
2:36.22 2:36.82 2:37.83 2:40.91 2:42.22 2:44.31 2:54.43 2:54.73
7 KEEESPA | 2 HABPA | 3 EEERDPA| ¢ KE—HA| 5 KE—FB| 6 LRHB | 7 ElAC 1 8 KREEETFB
. INER BE ER /N st & —E &N W RE g BA BE HEH W tiE
JL— WiE R FIER B BWE K BN ED ER BE 3 k- &l Em BiEk 2
Al R K ng Es RAHRE e WA E7E RIB = FEE F7E EaR &n
Ak = A BF B IR B EF i vHhY 2 BB e R £ RE
A&H 15917 2:04.57 2:05.47 2:05.52 2:16.04 2:16.48 2:23.89 2:28.92
(B—kE) 28.89 30.54 31.15 30.86 32.92 33.72 35.00 33.80
7 KEEESF | 2 HAFA | 3 BEFREHRTA 4 KE—PA| 5 KE—FB | 6 HLAFB 7 Pld L] 8 KfE—C
- g s =W RERIEE BN ED i vhyY Ry = IR hFEER FiE RIE
AFL—UL—| gk £41 o R it &m TR BE WA BETE =035 B Al ik AL
200m ER Ok KE BF we)l B EF g RE EAK & [T WEp FE
INER BE FIER B 21l Hi —BE &N B 32 BE B T A% WL
2:11.25 2:17.89 2:19.98 2:24.33 2:32.13 2:38.34 2:45.86 2:55.04
(E—kE) 33.10 36.36 37.55 35.12 39.66 38.64 41.77 47.83
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